Dividing Money (C)

—_

i

10.

Calculate each quotient.

91 ) $6533.80 2. 74) $1465.20 3. 91) $8281.00
70 ) $2618.00 5. 65 ) $6097.00 6. 65) $2353.00
17 ) $724.20 5. 42 ) $999.60 9. 41) $3337.40

If 47 identical toy robots cost $977.60, how much did each toy robot

cost?
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Dividing Money (C) Answers

10.

$ 71.80

91 ) $6533.80
—$6370.00

$163.80
—$91.00

$72.80
—3$72.80

$0.00

$ 37.40

70 ) $2618.00
—$2100.00

$518.00
—$490.00

$28.00
—$28.00

$0.00

$ 42.60
17) $724.20
—$680.00

$44.20
—$34.00

$10.20
—$10.20

$0.00

Calculate each quotient.

$ 19.80

74) $1465.20
—$740.00
$725.20
—$666.00
$59.20
—$59.20

$0.00

$ 93.80

65) $6097.00
—$5850.00

$247.00
—$195.00

$52.00
—3$52.00

$0.00

$ 23.80

42) $999.60
—5840.00
$159.60
—$126.00
$33.60
—$33.60

$0.00

3.

$ 91.00
91 ) $3281.00
—$8190.00

$91.00
—$91.00

$0.00

$ 36.20

65 ) $2353.00
—$1950.00

$403.00
—$390.00

$13.00
—$13.00

$0.00

$ 81.40

41) $3337.40
—$3280.00
$57.40
—$41.00
$16.40
—$16.40

$0.00

If 47 identical toy robots cost $977.60, how much did each toy robot

cost? $20.80
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